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Division with Negative Numbers

obJ' ective 1

Poage L of 4

Perform Dlvision with Negative Numbers
Remerber that multiplication represents
repetitive addition of a nuumber.
Recall 4-3=4+4+4=12
This means that “4 goes tnto 127 three tlnes!
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We caw See that Lt takes three 4's to malke 12.
Sinee 4-2=12 this means 12 +4 =3,

Do You see o pattern L the above note?

Recoll: —4-2=(—4)+(—4)+(—4)=—12
We can see that Lt takes three -4's to make -12.
Sinee —4+-2=—12 this means—12 +(—4) =3

Note: %ZB since —4-z3=—12

Do You see A pattern tn the above note? Notice
that negative divided by negative Ls positive!
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Understanding our multiplication tables can
help us with V\/LBWCQLL@ determining basic
division probtemg.

Notice that sinee F# -3 = 3 - F =21 wWe can

conclude that

%:3 and %=7.

similarly, since -7+ - 3= 7 (-2)= -21 we can
conclude that
-271 =-= and _2?1 =-7

»

wWe can now make a general concluston
regarding diviston with tntegers.

4 Whewn dividing two nunmbers with the M\
sign, the quotient will be positive.
whew dividing two numbers with different
Gig ns, the gquotient will be negative. P
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Exampte 1: Fund each quotient and thew rewrite
Lt as an equivalent muttlpt’watlom probtem b@

fillbng L the blank.

1

n) &
b) = =
45 _
) 22 =

o

5
5

42
7

5

-9
54 _
d) =& =

H H=

1229 _
2) I

162 _
h) 9~

. 210 _
L) 1o —

since 5+ =15

since #+(___)=-42

SLACE -9- =45
sinee -6+ =-54
slnce -12 =0

since 4+(__ )=-g4
sinee ©+( )=-12¢
stnee -9+ =1e2

sinee -12 - =216
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[ Answer the following homework questions. ]

n Exercises 1 - &, finol each guotient.
1) 28 +(-#) 2) -22 + (-9) 5) 40 + (4) =5

2) 122 + (11) 4) -54 <+ 9 &) 56+ (-#) + ¢

(n Exercises F# — 10, write each word statement as a wmathewatical
expression thew finol the value of the expression.

7) The quotient of -20 and 5.

g) Subtract -z from the quotient of 27 and -9.

9) The quotient of -3 squared and -9.

10) The product of -1 and -4 squared, divided by -2.

(n Exerclses 11 - 19, evaluate each e)qzresslow

20 4(-& 2
11) -4 14) = 17) (-2 +20+4
12) % 15) %(% 12) -2 +24+(-%)
ﬁ 2 2 2
12) O 16) (3) +21+7F 19) -2° —(-8) +(+4)




